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Ready for mind games?

LET'S HAVE SOME FUN

WANT TO BE FAMOUS? SUBMIT PHOTOS OF YOU
AND YOUR COMPLETED PAGE TO OUR WHATSAPP
LINE (CAXTON JOBURG NORTH) AND YOU COULD BE

FEATURED ON OUR FAMILY TIME PAGE.
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WORD CONNECTS
FA TE PYRAMID MATHS a8
RE SM Add the adjacent
numbers together and \ 414|444
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How to bl completed the pyramid. ‘\ VA 72 (111 (120 93
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Link the letters to form RA LE P . Y
e:ght seperate words. may use th? Ir:j\éerse 24 148 |63 | 57 | 36
Each word must have NG operation of addition
;r?;yyvivlﬁzeacfinntfﬁgf DE (ie.subtraction) to help 6 |18 130 |33 |24 |12
example; “decide’. SO DE find th,e numbers in the 0| 6 |12 |18 |15 9 3
pyramid.
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Maths riddle: What five-letter word becomes
shorter when you add two letters to it?

The answer is: “Short”

WORD SUDOKU
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Solve this puzzle as you
would a Sudoku. Fill the

9x9 grid with the word
LOCKSMITH, without

repeating any letters
in the same row and

column. The letters must
be placed in each row,
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column, and 3x3 block.
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1=BROWN 2=GREY 3=BLUE

Which glass will fill up first?
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Answer: 6. Look at the pipes connected to the
glasses. The lower pipe connected to the first
glass is closed - the water won'’t go through it.
So now eliminating options with closed pipes,
it's the glass number 6 that will fill up first.

FUTOSHIKI

Fill the grid with numbers 1-4.

- Each row and column must contain
only one instance of each number.

- The numbers should satisfy the
comparison signs - less than or greater

than.
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